Bradiey manufacture hi
instructions to users

Fig.1:
. M16 Nut
M16 Bolt
M6 Washer
»"*-.-u

" Frame Assy.
P/N: 68247 -

Bradley Doublelock Ltd, Victoria Works, Bingley, West Yorksh:re BD16 2NH T

) " Tel: +44 (0)1274 560414 / 516760 Fax: +44 (01274 551114 o _

: R www.bradlevdoublelock.co. ug _ . s . . o
Jdssuez 7 Nov. 2012 , i .Pagel -




iy
+2

Secure slider (P/N: 68248) to frame using Pin (P/N: 66702) and
‘R’ - clip (P/N: 102860) as illustrated in Fig. 2. Use two off M16 Bolts, nuts & washers,
supplied, to secure your coupling to slider. ‘

Fig. 2:

IR, — Clli'p ;

P/N: 102960
Frame Assy.
P/N: 68247 — 4 OFF WHEN 2 PIN SLIDER

~USED AT ALL TIMES

Pin 2 ‘R’clip version.
P/N: 66702

Lockable pin
P/N: 87979
1 or2 OFF

Slider2PIN | .
P/N 68248 .

For maximum towing capacity piéase refer to your vehicle, towbar and coupling
manufacturer MGTW data and apply whichevey is lower.
A stabiliser may be used. Please refer to the' manufacturer's fitting mstructlon when e

fastenmg either a coupling device or stablllser to the slider.

Bradley Doublelock Lid, Victoria Works, Bingley, West Yorkshire, BD16 2NH
Tel: +44 (0)1274 560414 / 516760 Fax: +44 (0)1274 551114

www.bradleydoublejock.co.uk
Issue 3 Nov. 2012 Page 2



